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Quadratic Equations
ax2 + bx + c = 0   (where a ≠ 0)0O ↑ O

bu+ c =0 = linear
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Solving Quadratic Equations
Method 1: Factorization 
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Solving Quadratic Equations
Method 1: Factorization 
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Solving Quadratic Equations
Method 1: Factorization 
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Solving Quadratic Equations
Method 2: Sridharacharya’s Method (Formula Method)
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Discriminant (𝑏2 − 4𝑎𝑐)
Important Notes:

   ____   ____________

𝑏2 − 4𝑎𝑐 =  ____   ____________

   ____   ____________

-

a = Jb2-uac

= 2a

> 0 two real unequal roots.

A = = 0 two real equal roots

< 0 two unreal unequal roots.

Cimaginary?



Important Points 
1. reciprocal roots, if a = c.
2. one root = 0, if c = 0.
3. negative and reciprocal roots, if c = - a.
4. both roots equal to 0, if b = 0, c = 0.

ax2 + bx + c =0
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If roots of QE are known 
Roots = (X , B)

an +bx +c
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1 . x + B=
2 . XB =

3 . Quad. Egn = n2 - (c+ B)x + XB
=0



Important note if roots are known
If the equation ax2 + bx + c = 0 has the roots ⍺ and β, 
then the equation having the roots 1

𝛼
 and 1

𝛽
 , 

is cx2 + bx + a = 0.
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